Installation Instructions Page 1 of 13

.

2017+ Can-Am X3

TR L SIOrlS Tree Kickers #s3127-Tk

INSTALLATION INSTRUCTIONS

Can-Am X3 - Tree
Kickers

Page 1 of 13



Installation Instructions Page 2 of 13

.

2017+ Can-Am X3

TR L SIOrlS Tree Kickers #s3127-1k

PARTS LIST

ITEM PART # DESCRIPTION QTY
S3127-TK Driver Tree Kicker 1
S3127-TK Passenger Tree Kicker 1

Driver Rear Mount Arm 1
Passenger Rear Mount Arm 1
29711 Curved Washers 12
3/8” x 2.75” Bolt 6
M10 x 60 Bolt 2
M10 Flat Washer 4
M10 Nylock Nut 2
Finishing Plug 4

1.) Place X3 in park (P) on a flat level surface.

2.) Check provided hardware. See picture A.

3.) Remove both seats, using 18mm socket for rear nuts and 13mm end wrench for front bolts.
(Pro Tip : Slide seat forward to allow impact access to rear nuts.)

4.) Locate small divots in side panel plastics that indicate where preset frame holes are.

5.) From the inside, locate factory nerf bar holes in frame — B pillar main tube and floor tube. See
pictures B, C, and D.

6.) Using a 7/8” step bit, drill through the plastics to allow nerf bar mounting bungs to connect to
frame. (Pro Tip : In some cases, it may be necessary to drill ~1/4” higher than the divot, due to
frame variance/plastic sag.)

7.) Secure nerf bar to frame using 3/8” bolts into mounting bungs and curved washers on both
sides of frame tube. (Pro Tip : Apply red threadlocker to first 6 threads of each bolt.) See
pictures E, F, and G.

8.) Start bolts by hand — then using 14mm end wrench, snug these bolts but do not tighten yet.

Page 2 of 13



Installation Instructions Page 3 of 13

.k 4

2017+ Can-Am X3

JITWOrSaorts Tree Kickers #s3127-1k

9.) Remove rear upper sway bar mount bolt, using an 18mm socket/impact and end wrench. See
picture H.

10.) Install Rear Mount Arm by utilizing rear upper sway bar mount bolt and sliding into the Lower

Mount. Fasten, with red threadlocker, using provided M10 x 60mm bolt, washers, and nut. (Note :

Mount arms are side specific.) See pictures | and J.

11.) Reinstall rear upper sway bar mount bolt and nut, using red threadlocker. Final tighten to

OEM specs.

12.) Final tighten the 3/8” bolts followed by M10 x 60mm bolt, using red threadlocker.

13.) Install Finishing Plugs using a dead blow or rubber mallet.

14.) Reinstall front tires to factory spec and remove from jack stands.

15.) Reinstall seat and repeat process for opposite side.

Thank you for choosing S3 Power Sports! Let us know if you have any questions! 855-221-7097

Page 3 of 13



Installation Instructions Page 4 of 13

.

2017+ Can-Am X3

TR L SIOrlS Tree Kickers #s3127-1k

Picture A

Page 4 of 13



Installation Instructions Page 5 of 13

.

2017+ Can-Am X3

TR L SIOrlS Tree Kickers #s3127-1k

Picture B

Page 5 of 13



Installation Instructions Page 6 of 13

.k 4

2017+ Can-Am X3

JITWOrSaorts Tree Kickers #s3127-1k

Picture C

Page 6 of 13



Installation Instructions Page 7 of 13

.k 4

2017+ Can-Am X3

JITWOrSaorts Tree Kickers #s3127-1k

Picture D

Page 7 of 13



Installation Instructions Page 8 of 13

.k 4

2017+ Can-Am X3

JITWOrSaorts Tree Kickers #s3127-1k

Picture E

Page 8 of 13



Page 9 of 13

Installation Instructions

: 2017+ Can-Am X3
Tree Kickers #s3127-1K

Y 77 4

Picture F

S
NS
S
S
S
=
S

Page 9 of 13



Installation Instructions Page 10 of 13

.

2017+ Can-Am X3

TR L SIOrlS Tree Kickers #s3127-Tk

Picture G

Page 10 of 13



Installation Instructions Page 11 of 13

.k 4

2017+ Can-Am X3

JITWOrSaorts Tree Kickers #s3127-1k

Picture H

Page 11 of 13



Installation Instructions Page 12 of 13

.k 4

2017+ Can-Am X3

TR L SIOrlS Tree Kickers #s3127-1K

Picture |

Page 12 of 13



Installation Instructions Page 13 of 13

.k 4

2017+ Can-Am X3

JITWOrSaorts Tree Kickers #s3127-1k

Picture J

Lower Mount

Page 13 of 13



